
Session 2– Multiplication 3 digits by 2 digits 

Tricky 
 
 

Trickier  
3 x 2 digit  

Trickiest 
3 x 2 digit 

 
 
Then have a look at the trickier questions 

34 x 123 = 
45 x 234 = 
466 x 22 = 
453 x 21 = 
786 x 14 = 
17 x 122= 
11 x 465 = 
671 x 13= 
 
 
 
 
 
 
 

142x31= 
214x53= 
337x46= 
24x183= 

Extra	challenge	questions	

				 	

												 																																 								

	

	

	

				

	

A	football	pitch	is	128m	long	and	52	m	
wide	

What	is	the	area	of	the	pitch?	



Answers	

Tricky	 Trickier	 Trickiest	
	

	
	
	
	
	
	

  
34 x 123 =4,182 
45 x 234 =10,530 
466 x 22 =10,252 
453 x 21 =9,513 
786 x 14 =11,004 
17 x 122=2,074 
11 x 465 =5,115 
671 x 13=8,723 

	

142x31=4,402 
214x53=11,342 
337x46=15,502 
24x183=4,392	

Extra	challenge	questions		

								

	

				

		

A	football	pitch	is	128m	long	and	52	m	
wide	

What	is	the	area	of	the	pitch?	6,656m2	


